NEW 3 WINDOW



PAYOUTS ON BACK

POKER HANDS™

		IUKLIII	IANDO		
FORM 7374P 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00	FORM 7375P 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00	FORM 7376P 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00
PAYS OUT 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 200 @\$5.00\$1000.00	MULTIPLE WINNERS 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$150.00 2 @\$50.00\$50.00 4 @\$10.00\$40.00 192 @\$5.00\$960.00	PAYS OUT 3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00 4 @ \$50.00\$200.00 10 @ \$10.00\$100.00 100 @ \$5.00\$500.00	MULTIPLE WINNERS 6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @\$60.00\$120.00 2 @\$50.00\$100.00 2 @\$50.00\$40.00 2 @\$15.00\$30.00 2 @\$15.00\$20.00 98 @\$5.00\$490.00	PAYS OUT 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00
75% payback Win Ratio: 1 in 18.7 3 sets per case		75% payback Win Ratio: 1 in 32.8 3 sets per case		75.05% payback Win Ratio: 1 in 35.7 3 sets per case	
14 POSTINGS		14 POSTINGS		14 POSTINGS	
PAYS OUTIDEAL PROFIT		PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	· ·
FORM 7377P 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00	FORM 7378P 4,000 cards @ 500	50¢ per card 2\$2,000.00	FORM 7379PLS 6,320 cards @ \$1.	\$1.00 per card 00 \$6,320.00
4,000 Gards @ \$1. PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$550.00\$100.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	MULTIPLE WINNERS 4 @\$500.00 \$2000.00 2 @\$100.00 \$200.00 2 @\$50.00 \$100.00 2 @\$10.00 \$20.00 6 @\$5.00 \$30.00 130 @\$5.00 \$650.00	PAYS OUT 2 @\$250.00\$500.00 2 @\$100.00\$200.00 3 @\$50.00\$150.00 10 @\$10.00\$100.00 10 @\$3.00\$30.00 420 @\$1.00\$420.00	MULTIPLE WINNERS 2 @\$250.00 \$500.00 2 @\$100.00 \$200.00 3 @\$50.00 \$150.00 10 @\$10.00 \$100.00 10 @\$3.00 \$30.00 21 @\$2.00 \$42.00 378 @\$1.00 \$378.00	PAYS OUT 2 @ \$599.00\$1198.00 2 @ \$599.00\$1198.00 2 @ \$100.00\$200.00 5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	MULTIPE WINNERS 2 @ \$599.00\$1198.00 2 @ \$599.00\$1198.00 2 @ \$100.00\$200.00 5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00
75% payback Win Ratio: 1 in 27.4 3 sets per case		70% payback Win Ratio: 1 in 9.0 3 sets per case		75.08% payback Win Ratio: 1 in 109.0 2 sets per case	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00 \$600.00	PAYS OUTIDEAL PROFIT	\$4,745.00 \$1,575.00
FORM 7380P	25¢ per card	FORM 7381P	\$1.00 per card	FORM 7382P	\$1.00 per card
4,000 cards @ 250 PAYS OUT 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00		4,000 cards @ \$1. PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @ \$50.00\$50.00 2 @ \$25.00\$50.00 2 @ \$5.00\$10.00 640 @ \$1.00\$640.00		3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$700.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00	
65% payback Win Ratio: 1 in 25.3 3 sets per case		75% payback Win Ratio: 1 in 6.1 3 sets per case		71.04% payback Win Ratio: 1 in 13.6 4 sets per case	181 @ \$2.00\$362.00
6 POSTINGS		10 POSTINGS		16 POSTINGS	
PAYS OUTIDEAL PROFIT		PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$2,245.00 \$915.00
	FORM 7383P	\$1.00 per card	FORM 7424P	50¢ per card	
	4,000 cards @ \$1. PAYS OUT 5 @ \$400.00\$2000.00 2 @ \$200.00\$400.00 2 @ \$100.00\$200.00 2 @ \$50.00\$100.00 100 @ \$2.00\$200.00 75% payback Win Ratio: 1 in 34.8 3 sets per case	MULTIPLE WINNERS 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	3,080 cards @ 500 PAYS OUT 8 @ \$100.00 \$800.00 2 @ \$50.00 \$40.00 2 @ \$20.00 \$40.00 4 @ \$2.00 \$8.00 200 @ \$1.00 \$200.00 75.19% payback Win Ratio: 1 in 14.1 4 sets per case	### ### ##############################	
	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUT IDEAL PROFIT	\$1,158.00 \$382.00	

\$1 FORM NO. 7945M SIZE 3159 BOWL # MULTIPLE WINNERS CASH PAY OUT FORM NO. 7945M SERIAL NO. 51 Cash Pay Out Shows total prize payout!! minity. inted on the ! WIN GUARD CASH PAY OUT CAPITAL GAME © 2024 Capital Game Mfg., Cleveland, Ohio A division of Arrow International, Inc. **ACCOMPLISH** Great THINGS **PAYOUTS ON BACK** The laws that determine the legality of this product change constantly. It is the responsibility of the buyer to determine which products are legal in any given area. Payouts with either a ticket count exceeding 4,000 or a prize payout less than 65% are not available for sale in Pennsylvania or Louisiana. Mississippi max count is 6,000 tickets. Single prize payout maximum is \$500 in LA, \$1000 in MS and \$2,000 in PA/VA.

For new and up-to-date product information visit us at www.arrowinternational.com!

GREAT MINDS DRINK ALIKETM

	UIILA				
FORM 7384P	\$1.00 per card	FORM 7385P	\$1.00 per card	FORM 7386P	\$1.00 per card
•	00\$4,000.00	4,000 cards @ \$1.	· · ·		00\$4,000.00
PAYS OUT 6	MULTIPLE WINNERS 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 4 @\$10.00\$40.00 192 @\$5.00\$960.00	PAYS OUT 3 @\$300.00\$900.00 3 @\$300.00\$400.00 2 @\$200.00\$400.00 4 @ \$50.00\$200.00 10 @ \$10.00\$100.00	MULTIPLE WINNERS 6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @\$60.00\$120.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 2 @\$15.00\$30.00 2 @\$10.00\$20.00 98 @\$5.00\$490.00	PAYS OUT 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00
75% payback Win Ratio: 1 in 18.7 3 sets per case		75% payback Win Ratio: 1 in 32.8 3 sets per case		75.05% payback Win Ratio: 1 in 35.7 3 sets per case	
14 POSTINGS		14 POSTINGS		14 POSTINGS	
PAYS OUTIDEAL PROFIT	\$1,000.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	IDEAL PROFIT	
FORM 7387P	\$1.00 per card	FORM 7388P	50¢ per card	FORM 7389PLS	\$1.00 per card
4,000 cards @ \$1. PAYS OUT 4 @\$500.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$5.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$2000.00 2 @\$50.00\$200.00 2 @\$50.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	4,000 cards @ 500 PAYS OUT 2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00 3 @ \$50.00 \$150.00 10 @ \$10.00 \$100.00 10 @ \$3.00 \$30.00 420 @ \$1.00 \$420.00	**************************************	6,320 cards @ \$1. PAYS OUT 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @\$25.00\$1100.00 1 Last Sale @\$599.00\$599.00	MULTIPLE WINNERS 2 @ \$599.00\$1198.00 2 @ \$599.00\$1198.00 2 @ \$100.00\$200.00 2 @ \$100.00\$200.00 5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00
75% payback Win Ratio: 1 in 27.4 3 sets per case 8 POSTINGS		70% payback Win Ratio: 1 in 9.0 3 sets per case 7 POSTINGS		75.08% payback Win Ratio: 1 in 109.0 2 sets per case	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00 \$600.00	PAYS OUTIDEAL PROFIT	\$4,745.00 \$1,575.00
FORM 7390P	25¢ per card	FORM 7391P	\$1.00 per card	FORM 7392P	\$1.00 per card
4,000 cards @ 250 PAYS OUT 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	### ### ##############################	4,000 cards @ \$1. PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$50.00 2 @\$55.00\$50.00 2 @\$5.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case	00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$500.0\$2000.00 2 @\$550.00\$100.00 2 @\$55.00\$10.00 32 @\$2.00\$64.00 576 @\$1.00\$576.00	3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$250.00 3 @ \$50.00 \$45.00 10 @ \$5.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$150.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00 1 @\$50.00 \$50.00 8 @\$4.00 \$32.00 181 @\$2.00 \$362.00
PAYS OUT		PAYS OUT	\$3,000.00	PAYS OUT	\$2,245.00
IDEAL PROFIT	\$350.00	IDEAL PROFIT	\$1,000.00	IDEAL PROFIT	\$915.00
	FORM 7393P 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00	FORM 7425P 3,080 cards @ 500	50¢ per card ¢ \$1,540.00	
	PAYS OUT 5 @\$400.00\$2000.00 2 @\$200.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 4 @\$25.00\$100.00 100 @\$2.00\$200.00	MULTIPLE WINNERS 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$50.00\$200.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	PAYS OUT 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 2 @\$5.00\$10.00 4 @\$2.00\$8.00 200 @\$1.00\$200.00	MULTIPLE WINNERS 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 2 @\$5.00\$10.00 4 @\$2.00\$8.00 200 @\$1.00\$200.00	
	75% payback Win Ratio: 1 in 34.8 3 sets per case		75.19% payback Win Ratio: 1 in 14.1 4 sets per case		
	PAYS OUT	\$3,000.00 \$1,000.00	PAYS OUT	\$1,158.00 \$382.00	



For new and up-to-date product information visit us at www.arrowinternational.com!

I I IKF IT DIRTYTM

		ILINEII	יין וחוע יייין		
FORM 7394P	\$1.00 per card	FORM 7395P	\$1.00 per card	FORM 7396P	\$1.00 per card
4,000 cards @ \$1. PAYS OUT 6 @\$250.00\$1500.00 2 @\$100.00\$2200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 200 @\$5.00\$1000.00	MULTIPLE WINNERS 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 4 @\$10.00\$40.00 192 @\$5.00\$960.00	4,000 cards @ \$1. PAYS OUT 3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00 4 @ \$50.00\$200.00 10 @ \$10.00\$100.00 100 @ \$5.00\$500.00	MULTIPLE WINNERS 6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @\$50.00\$120.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 2 @\$15.00\$30.00 2 @\$15.00\$30.00 2 @\$50.00\$40.00	4,000 cards @ \$1. PAYS OUT 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$55.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00
75% payback Win Ratio: 1 in 18.7 3 sets per case		75% payback Win Ratio: 1 in 32.8 3 sets per case		75.05% payback Win Ratio: 1 in 35.7 3 sets per case	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00 \$1.00 per card	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00 50¢ per card	PAYS OUTIDEAL PROFIT FORM 7399PLS	\$3,002.00 \$998.00 \$1.00 per card
4,UUU cards @ \$1. PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$2000.00 2 @\$50.00\$100.00 2 @\$10.00\$20.00 130 @\$5.00\$650.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$30.00 130 @\$5.00\$650.00	4,000 cards @ 500 PAYS OUT 2 @ \$250.00 \$500.00 2 @ \$100.00 \$150.00 10 @ \$100.00 \$100.00 10 @ \$3.00 \$30.00 420 @ \$1.00 \$420.00	MULTIPLE WINNERS 2 @\$250.00\$500.00 2 @\$100.00\$200.00 3 @\$50.00\$150.00 10 @\$10.00\$100.00 10 @\$3.00\$30.00 21 @\$2.00\$42.00 378 @\$1.00\$378.00	6,32U cards @ \$1. PAYS OUT 2 @ \$599.00 \$1198.00 2 @ \$599.00 \$1198.00 2 @ \$100.00 \$200.00 2 @ \$100.00 \$200.00 4 @ \$50.00 \$250.00 44 @ \$50.00 \$1100.00 1 Last Sale @ \$599.00 \$599.00	MULTIPLE WINNERS 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @ \$25.00\$1100.00
75% payback Win Ratio: 1 in 27.4 3 sets per case		70% payback Win Ratio: 1 in 9.0 3 sets per case 7 POSTINGS		75.08% payback Win Ratio: 1 in 109.0 2 sets per case	
PAYS OUTIDEAL PROFIT	\$1,000.00	PAYS OUTIDEAL PROFIT	\$600.00	PAYS OUTIDEAL PROFIT	\$1,575.00
4,000 cards @ 25	25¢ per card ¢\$1,000.00	4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00	3,160 cards @ \$1.	\$1.00 per card 00 \$3,160.00
PAYS OUT 2 @ \$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	MULTIPLE WINNERS 2 @ \$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 2 @\$55.00\$10.00 640 @\$1.00\$640.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 2 @\$5.00\$50.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00	MULTIPLE WINNERS 2 @ \$205.00 \$410.00 1 @ \$152.00 \$152.00 1 @ \$150.00 \$150.00 2 @ \$107.00 \$214.00 2 @ \$105.00 \$210.00 6 @ \$100.00 \$600.00 1 @ \$65.00 \$65.00 1 @ \$50.00 \$50.00 8 @ \$4.00 \$32.00
65% payback Win Ratio: 1 in 25.3 3 sets per case 6 POSTINGS		75% payback Win Ratio: 1 in 6.1 3 sets per case		71.04% payback Win Ratio: 1 in 13.6 4 sets per case	181 @ \$2.00\$362.00
PAYS OUT	\$650.00	PAYS OUT	\$3,000.00	PAYS OUT	\$2,245.00
IDEAL PROFIT	FORM 7403P 4,000 cards @ \$1.	\$1.00 per card 00 \$4,000.00	\$1,000.00 FORM 7426P 3,080 cards @ 50¢	1DEAL PROFIT 50¢ per card 5\$1,540.00	\$915.00
	PAYS OUT 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$5100.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	MULTIPLE WINNERS 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	PAYS OUT 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 2 @\$5.00\$10.00 4 @\$2.00\$8.00 200 @\$1.00\$200.00	MULTIPLE WINNERS 8 @\$100.00\$800.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$5.00\$10.00 4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	
	75% payback		75.19% payback		

FORM 7403P	\$1.00 per card	FORM 7426P	50¢ per card
4,000 cards @ \$1.	00\$4,000.00	3,080 cards @ 50	\$ \$1,540.00
PAYS OUT 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 4 @\$25.00\$100.00 100 @\$2.00\$200.00	MULTIPLE WINNERS 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	PAYS OUT 8	MULTIPLE WINNERS 8 @ \$100.00 \$800.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$5.00 \$10.00 4 @ \$2.00 \$8.00 200 @ \$1.00 \$200.00
75% payback Win Ratio: 1 in 34.8 3 sets per case		75.19% payback Win Ratio: 1 in 14.1 4 sets per case	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,158.00 \$382.00



GLAM LIFE™

		GLAIVI	LIIL		
FORM 7404P	\$1.00 per card	FORM 7405P	\$1.00 per card	FORM 7406P	\$1.00 per card
4,000 cards @ \$1.	MULTIPLE WINNERS	4,000 cards @ \$1.	MULTIPLE WINNERS	4,000 cards @ \$1.	MULTIPLE WINNERS
6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00	6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @ \$60.00\$120.00	3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @ \$50.00\$200.00	3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @ \$50.00\$200.00
2 @ \$50.00 \$100.00 2 @ \$25.00\$50.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	4 @ \$50.00 \$200.00 10 @ \$10.00 \$100.00	2 @ \$50.00 \$100.00 2 @ \$20.00\$40.00	3 @ \$25.00\$75.00 8 @ \$10.00\$80.00	3 @ \$25.00\$75.00 8 @ \$10.00\$80.00
200 @ \$5.00\$1000.00	4 @ \$10.00\$40.00 192 @ \$5.00\$960.00	100 @ \$5.00 \$500.00	2 @ \$15.00\$30.00 2 @ \$10.00\$20.00 98 @ \$5.00\$490.00	90 @ \$5.00\$450.00	90 @ \$5.00\$450.00
75% payback		75% payback		75.05% payback	
Win Ratio: 1 in 18.7 3 sets per case		Win Ratio: 1 in 32.8 3 sets per case		Win Ratio: 1 in 35.7 3 sets per case	
14 POSTINGS		14 POSTINGS		14 POSTINGS	
	A0.000.00		\$0.000.00		Φ0.000.00
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUT IDEAL PROFIT	\$3,002.00 \$998.00
FORM 7407P	\$1.00 per card	FORM 7408P	50¢ per card	FORM 7409PLS	\$1.00 per card
4,000 cards @ \$1.	00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ 50	£ \$2,000.00 MULTIPLE WINNERS	6,320 cards @ \$1.	.00 \$6,320.00 MULTIPLE WINNERS
4 @\$500.00\$2000.00 2 @\$100.00\$200.00	4 @\$500.00\$2000.00 2 @\$100.00\$200.00	2 @\$250.00\$500.00 2 @\$100.00\$200.00	2 @\$250.00\$500.00 2 @\$100.00\$200.00	2 @\$599.00\$1198.00 2 @\$599.00\$1198.00	2 @\$599.00\$1198.00 2 @\$599.00\$1198.00
2 @ \$50.00\$100.00 2 @ \$10.00\$20.00 6 @ \$5.00\$30.00	2 @ \$50.00\$100.00 2 @ \$10.00\$20.00 6 @ \$5.00\$30.00	3 @ \$50.00 \$150.00 10 @ \$10.00 \$100.00 10 @ \$3.00\$30.00	3 @ \$50.00\$150.00 10 @ \$10.00\$100.00 10 @ \$3.00\$30.00	2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @ \$50.00\$250.00	2 @\$100.00 \$200.00 2 @\$100.00 \$200.00 5 @ \$50.00 \$250.00
130 @ \$5.00\$650.00	130 @ \$5.00\$650.00	420 @ \$1.00 \$420.00	21 @ \$2.00\$42.00 378 @ \$1.00\$378.00	44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00
75% payback		70% payback		75.08% payback	
Win Ratio: 1 in 27.4 3 sets per case		Win Ratio: 1 in 9.0 3 sets per case		Win Ratio: 1 in 109.0 2 sets per case	
8 POSTINGS		7 POSTINGS			
	¢2 000 00		¢1 400 00	DAVE OUT	¢4.745.00
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00 \$600.00	PAYS OUT IDEAL PROFIT	\$4,745.00 \$1,575.00
PAYS OUT IDEAL PROFIT FORM 7410P	\$1,000.00 25¢ per card	PAYS OUTIDEAL PROFIT FORM 7411P	\$1.00 per card	FORM 7412P	\$1,575.00 \$1.00 per card
PAYS OUT IDEAL PROFIT FORM 7410P 4,000 cards @ 250	25¢ per card \$1,000.00\$1,000.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS	FORM 7412P 3,160 cards @ \$1.	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS
PAYS OUT IDEAL PROFIT FORM 7410P 4,000 cards @ 250 PAYS OUT 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00	25¢ per card 5\$1,000.00 MULTIPLE WINNERS 2 @ \$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00	IDEAL PROFIT FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00
PAYS OUT	25¢ per card 5\$1,000.00 MULTIPLE WINNERS 2 @ \$150.00\$100.00 2 @ \$50.00\$40.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$5.00\$50.00 2 @\$5.00\$10.00	IDEAL PROFIT FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00	\$1.00 per card \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00
PAYS OUT	25¢ per card \$1,000.00 \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00	PAYS OUT	\$1.00 per card \$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$50.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00	IDEAL PROFIT FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00	\$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$55.00 \$65.00 1 @\$55.00 \$55.00
PAYS OUT	25¢ per card 5\$1,000.00 MULTIPLE WINNERS 2 @ \$150.00\$100.00 2 @ \$50.00\$40.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$25.00\$64.00	FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$250.00 3 @ \$15.00 \$250.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00
PAYS OUT	25¢ per card 5\$1,000.00 MULTIPLE WINNERS 2 @ \$150.00\$100.00 2 @ \$50.00\$40.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$25.00\$64.00	FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00 1 @\$50.00 \$50.00 8 @\$4.00 \$32.00
PAYS OUT	25¢ per card 5\$1,000.00 MULTIPLE WINNERS 2 @ \$150.00\$100.00 2 @ \$50.00\$40.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$25.00\$64.00	FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$250.00 3 @ \$15.00 \$250.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00 1 @\$50.00 \$50.00 8 @\$4.00 \$32.00
PAYS OUT	25¢ per card 3,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$50.00\$200.00 2 @\$100.00\$100.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 3 @\$5.00\$10.00 576 @\$1.00\$576.00	FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 200 @ \$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$152.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$650.00 1 @\$55.00 \$65.00 1 @\$55.00 \$50.00 8 @\$4.00 \$32.00 181 @\$2.00 \$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$10.00 \$20.00 140 @ \$1.00 \$140.00 \$650.00 \$350.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$50.00 2 @\$55.00\$50.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00	IDEAL PROFIT FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 200 @ \$15.00 \$45.00 200 @ \$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT IDEAL PROFIT	\$1,575.00 \$1.00 per card 00 \$3,160.00 MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$214.00 2 @\$105.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00 1 @\$50.00 \$50.00 8 @\$4.00 \$32.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$10.00 \$20.00 140 @ \$1.00 \$140.00 \$650.00 \$650.00 FORM 7413P	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00 .\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 \$3,000.00 FORM 7427P	IDEAL PROFIT FORM 7412P 3,160 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 200 @ \$15.00 \$45.00 200 @ \$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT IDEAL PROFIT 50¢ per card	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 FORM 7413P 4,000 cards @ \$1. PAYS OUT	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 \$1,000.00 FORM 7427P 3,080 cards @ 500 PAYS OUT	IDEAL PROFIT	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$10.00 \$20.00 140 @ \$1.00 \$140.00 FORM 7413P 4,000 cards @ \$1. PAYS OUT 5 @ \$400.00 \$2000.00 2 @ \$100.00 \$400.00 2 @ \$100.00 \$200.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 FORM 7427P 3,080 cards @ 500 PAYS OUT 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00	IDEAL PROFIT	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$50.00 \$300.00 2 @ \$50.00 \$40.00 2 @ \$50.00 \$20.00 10 @ \$5.00 \$51.00 140 @ \$1.00 \$140.00 FORM 7413P 4,000 cards @ \$1. PAYS OUT 5 @ \$400.00\$2000.00 2 @ \$200.00 \$400.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 32 @\$5.00\$55.00 576 @\$1.00\$576.00 FORM 7427P 3,080 cards @ 500 PAYS OUT 8 @\$100.00\$800.00	IDEAL PROFIT	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$150.00 \$100.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$10.00 \$20.00 140 @ \$1.00 \$140.00 FORM 7413P 4,000 cards @ \$1. PAYS OUT 5 @ \$400.00 \$200.00 2 @ \$200.00 \$400.00 2 @ \$200.00 \$100.00 4 @ \$25.00 \$100.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 FORM 7427P 3,080 cards @ 50 PAYS OUT 8 @\$100.00\$800.00 2 @\$5.00\$100.00 2 @\$5.00\$100.00 2 @\$5.00\$100.00 2 @\$5.00\$40.00 2 @\$5.00\$40.00 2 @\$5.00\$40.00 2 @\$5.00\$80.00 4 @\$20.00\$80.00	IDEAL PROFIT	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
PAYS OUT	\$1,000.00 25¢ per card \$1,000.00 MULTIPLE WINNERS 2 @ \$550.00\$100.00 2 @ \$50.00\$20.00 10 @ \$50.00\$20.00 140 @ \$1.00\$140.00 FORM 7413P 4,000 cards @ \$1. PAYS OUT 5 @ \$400.00\$2000.00 2 @ \$200.00\$400.00 2 @ \$200.00\$400.00 2 @ \$200.00\$200.00 2 @ \$50.00\$100.00	PAYS OUT	\$1.00 per card 00\$4,000.00 MULTIPLE WINNERS 4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$5.00\$10.00 32 @\$2.00\$64.00 576 @\$1.00\$576.00 FORM 7427P 3,080 cards @ 500 PAYS OUT 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00	IDEAL PROFIT	\$1.00 per card 00\$3,160.00 MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00

12 POSTINGS

15 POSTINGS

NEW 3 WINDOW POPP-OPENS® CAME!



The laws that determine the legality of this product change constantly. It is the responsibility of the buyer to determine which products are legal in any given area. Payouts with either a ticket count exceeding 4,000 or a prize payout less than 65% are not available for sale in Pennsylvania or Louisiana. Mississippi max count is 6,000 tickets. Single prize payout maximum is \$500 in LA, \$1000 in MS and \$2,000 in PA/VA.

HIGH NOON™

		IIIGII I	IUUII		
FORM 7414P	\$1.00 per card	FORM 7415P	\$1.00 per card	FORM 7416P	\$1.00 per card
•	.00\$4,000.00	4,000 cards @ \$1.		4,000 cards @ \$1.	· · ·
PAYS OUT 6	MULTIPLE WINNERS 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 4 @\$10.00\$40.00 192 @\$5.00\$960.00	PAYS OUT 3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00 4 @ \$50.00\$200.00 10 @ \$10.00\$100.00 100 @ \$5.00\$500.00	MULTIPLE WINNERS 6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @\$60.00\$120.00 2 @\$50.00\$100.00 2 @\$50.00\$40.00 2 @\$15.00\$30.00 2 @\$10.00\$20.00 98 @\$5.00\$490.00	PAYS OUT 3 @\$599.00\$1797.00 4 @\$100.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00
75% payback Win Ratio: 1 in 18.7 3 sets per case		75% payback Win Ratio: 1 in 32.8 3 sets per case		75.05% payback Win Ratio: 1 in 35.7 3 sets per case	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$3,002.00 \$998.00
FORM 7417P	\$1.00 per card	FORM 7418P	50¢ per card	FORM 7419PLS	\$1.00 per card
4,000 cards @ \$1.	.00\$4,000.00	4,000 cards @ 50	\$ \$2,000.00	6,320 cards @ \$1.	
PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$10.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$500.00\$100.00 2 @\$100.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	PAYS OUT 2 @\$250.00\$500.00 2 @\$100.00\$200.00 3 @\$50.00\$150.00 10 @\$10.00\$100.00 10 @\$3.00\$30.00 420 @\$1.00\$420.00	MULTIPLE WINNERS 2 @ \$250.00\$500.00 2 @ \$100.00\$200.00 3 @ \$50.00\$150.00 10 @ \$10.00\$100.00 10 @ \$3.00\$30.00 21 @ \$2.00\$42.00 378 @ \$1.00\$378.00	PAYS OUT 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @ \$25.00\$1100.00 1 Last Sale @\$599.00.\$599.00	MULTIPLE WINNERS 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 5 @\$100.00\$200.00 44 @\$25.00\$1100.00 1 Last Sale @\$599.00\$599.00
75% payback Win Ratio: 1 in 27.4 3 sets per case		70% payback Win Ratio: 1 in 9.0 3 sets per case		75.08% payback Win Ratio: 1 in 109.0 2 sets per case	
PAYS OUT	\$3,000.00	PAYS OUT	\$1,400.00	PAYS OUT	\$4,745.00
IDEAL PROFIT		IDEAL PROFIT	\$600.00	IDEAL PROFIT	\$1,575.00
FORM 7420P	25¢ per card	FORM 7421P	\$1.00 per card	FORM 7422P	\$1.00 per card
4,000 cards @ 25	¢ \$1,000.00	4,000 cards @ \$1.	00\$4,000.00	3,160 cards @ \$1.	00 \$3,160.00
PAYS OUT 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$550.00\$100.00 2 @\$25.00\$50.00 2 @\$5.00\$10.00 640 @\$1.00\$640.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 3 @\$25.00\$10.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00	PAYS OUT 8 @\$100.00\$800.00 7 @\$100.00\$700.00 5 @\$50.00\$250.00 3 @\$15.00\$45.00 10 @\$5.00\$50.00 200 @\$2.00\$400.00	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$210.00 6 @\$100.00 \$600.00 1 @\$65.00 \$65.00 1 @\$50.00 \$50.00
2 @\$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 2 @\$5.00\$10.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 2 @\$5.00\$10.00 32 @\$2.00\$64.00	PAYS OUT 8 @\$100.00\$800.00 7 @\$100.00\$700.00 5 @\$50.00\$250.00 3 @\$15.00\$45.00 10 @\$5.00\$50.00	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$150.00 \$214.00 2 @\$107.00 \$2110.00 6 @\$100.00 \$600.00 1 @\$65.00 \$55.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 2 @\$5.00\$640.00 75% payback Win Ratio: 1 in 6.1	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 2 @\$5.00\$10.00 32 @\$2.00\$64.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6	MULTIPLE WINNERS 2 @ \$205.00 \$410.00 1 @ \$152.00 \$152.00 1 @ \$150.00 \$150.00 2 @ \$107.00 \$210.00 6 @ \$105.00 \$210.00 1 @ \$65.00 \$65.00 1 @ \$50.00 \$50.00 8 @ \$4.00 \$32.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$40.00 2 @ \$20.00 \$40.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 640 @\$1.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case 10 POSTINGS PAYS OUT	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$210.00 6 @\$105.00 \$600.00 1 @\$50.00 \$65.00 1 @\$50.00 \$55.00 8 @\$4.00 \$32.00 181 @\$2.00 \$362.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 \$650.00 \$350.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$50.00 2 @\$55.00\$10.00 640 @\$1.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case 10 POSTINGS PAYS OUT IDEAL PROFIT	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 32 @\$2.00\$64.00 576 @\$1.00\$576.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT IDEAL PROFIT	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$210.00 6 @\$105.00 \$600.00 1 @\$50.00 \$65.00 1 @\$50.00 \$55.00 8 @\$4.00 \$32.00 181 @\$2.00 \$362.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$40.00 2 @ \$20.00 \$40.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 \$650.00 \$350.00 FORM 7423P	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$2000.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 640 @\$1.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case 10 POSTINGS PAYS OUT IDEAL PROFIT \$1.00 per card	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 \$3,000.00 \$1,000.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT IDEAL PROFIT 50¢ per card	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 6 @\$105.00\$600.00 1 @\$50.00\$65.00 1 @\$50.00\$55.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 \$650.00 \$350.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$2000.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 640 @\$1.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case 10 POSTINGS PAYS OUT IDEAL PROFIT \$1.00 per card	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$25.00\$50.00 32 @\$2.00\$64.00 576 @\$1.00\$576.00	PAYS OUT 8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT IDEAL PROFIT 50¢ per card	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 6 @\$105.00\$600.00 1 @\$50.00\$65.00 1 @\$50.00\$55.00 8 @\$4.00\$32.00 181 @\$2.00\$362.00
2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 65% payback Win Ratio: 1 in 25.3 3 sets per case	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00 FORM 7423P 4,000 cards @ \$1 PAYS OUT 5 @ \$400.00 \$2000.00 2 @ \$200.00 \$400.00 2 @ \$500.00 \$200.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	PAYS OUT 4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$55.00\$10.00 2 @\$55.00\$10.00 640 @\$1.00\$640.00 75% payback Win Ratio: 1 in 6.1 3 sets per case 10 POSTINGS PAYS OUT	MULTIPLE WINNERS 4 @\$500.00\$2000.00 2 @\$50.00\$2000.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 32 @\$5.00\$64.00 576 @\$1.00\$576.00 FORM 7428P 3,080 cards @ 500 PAYS OUT 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$40.00 2 @\$50.00\$40.00 2 @\$50.00\$40.00 2 @\$50.00\$40.00 2 @\$50.00\$40.00	PAYS OUT 8 @\$100.00 \$800.00 7 @\$100.00 \$700.00 5 @\$50.00 \$250.00 3 @\$15.00 \$45.00 10 @\$5.00 \$50.00 200 @\$2.00 \$400.00 71.04% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT	MULTIPLE WINNERS 2 @\$205.00 \$410.00 1 @\$152.00 \$152.00 1 @\$150.00 \$150.00 2 @\$107.00 \$210.00 6 @\$105.00 \$600.00 1 @\$50.00 \$65.00 1 @\$50.00 \$55.00 8 @\$4.00 \$32.00 181 @\$2.00 \$362.00